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I. Multiple-choice questions (50%o)

1. A data structure can be

(A) an array (B) a record (C) alink list (D) all of the above
2. An array that consists of just rows and columns is a array.
(A) one-dimensional (B) two-dimensional ~ (C) three-dimensional (D) multidimensional
3. Given a linked list called children, the pointer variable children identifies element of the
linked list.
(A) the first (B) the second (C) the last (D) any
4. If Ais the first data element input into a stack, followed by B, C, and D, then is the first
element to be removed.
(A) A (B)B ©cC (D) D
5. The push operation of the stack.
(A) deletes an item from the top (B) deletes an item from the bottom
(C) inserts an item at the top (D) inserts an item at the bottom

6. Consider the time complexity (A) O(1) (B) O(n log n) (C) O(n? (D) O(nh),

and suppose n is sufficiently large. is the worst.

7. is the pre-order traversal result of the following binary tree.
(A)2,7,5,2,6,9,5,11, 4 (B)2,5,11,6,7,4,9,5,2
(©)2,7,5/6,11,2,5,4,9 (D)2,7,2,6,5,11,5,9, 4
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8. is false for the following equation:

(A) 5n*-6n=0(n?) (B) 100n*+2" =0(2") (C) 100+5=0(1) (D) n*=(n log® n)
9. is the running time of following program.

(A) O(1) (B) O(n) (C) O(n’) (D) O(n)

sum =20 ;

fori=1;i<n; i++)
forG=1;j<i*i; j++)
if  %i==0)
for(k=0; k<j; k+t)
sum++ ;

10. Given the numbers: 20, 62, 31, 14, 1, 25, 3, 9, 11 and the hash function H(x) = x mod 11.
__will have the collision.
(A) (20, 62) and (31, 34) (B) (1, 25) and (19, 11)
(C) (31, 14) and (25, 3) (D) (20, 31) and (14, 25, 3)
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